MGP8(8i#8 ZIhaehersiEk/iE )

RS E

MGP81-1D12-VC

T

MCGP:ZER S IhBENEsE Ik

2: 22

1. #ORY, 1=G1/8",2=G1/4",3=G3/8"

4=G1/2",5=G5/8",6=G3/4",8=G1", 10=G(1+1/4")

MGP8 (I

FRERRS

VC BRR=RER
VD TAkRF=mER
EAER=VCBRAR

FERER

ID12: WFL12mm

Eietesl) RIE

U v
J Q
OF to deep K P
= == = =
= LRTRTR PP
S| _
I N go] =
wee
Rotor side Stator side
Heril Rg]
P
MGP8RFiERIR
8BS BiEH BORY MRS E5EE BS BB BORY RALRT EEE
MGP81 88 G1/8" N/A 0-50MPa MGP83 8iH8H G3/8" N/A 0-50MPa
MGP82 8i#8H G1/4" N/A 0-50MPa MGP84 88 G1/2" N/A 0-50MPa
Size MGP81 MGP82 MGP83 MGP84
A 7.14mm 9mm 9mm 9.0mm
B 87.3095mm 107.95mm 125.40mm 142.88mm
[} 76.20mm 92.08mm 109.52mm 127.00mm
D 82.55mm 100.008mm 117.4500mm 133.25mm
e 2-015 O-Ring 2-017 O-Ring 2-019 O-Ring 2-023 O-Ring
[14.00mm] [17.17mm] [20.35mm] [26.70mm]
F 4.0mm 6.4mm 9.53mm 12.7mm
G 46.02mm 53.98mm 63.50mm 73.03mm
H N/A N/A N/A N/A
| 190.2mm 244 1mm 227.7mm 316.2mm
J 58.9mm 70.4mm 77.9mm 83.5mm
K 30.1mm 33.3mm 41.3mm 42.8mm
L 7.92mm 7.92mm 9.53mm 11.10mm
M 66.7mm 79.38mm 92.08mm 107.95mm
N 3.18mm 3.18mm 4.75mm 4.75mm
o 64.72mm 74.20mm 91.44mm 101.60mm
P G1/8" G1/4" G3/8" G1/2"
Q 14mm 17.5mm 20.60mm 24.56mm
R 34.9 34.9 34.9 N/A
S M5x0.8 M5x0.8 M5x0.8 N/A
T M6x1.0 M8x1.25 M8x1.25 M8x1.25
U N/A 118.0mm 207.1mm 236.4mm
\Y N/A 23.06mm 23.16mm 30.12mm

Iy, \WWw.MOFLON.CN

/ REEH

REBIBIRBUER 111111,

<
()
U
N
o
oy
el
Atk
vy

€z

507



